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The question paper is divided into four sections. Section A,
Section B, Section C and Section D.

The question paper has 26 questions in all.
All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 7 are very short answer type
questions. Each question carries 1 mark. Answers to these
should not exceed 30 words.
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(vi) Questions from serial number 8 to 18 are 3 marks questions.
Answers of these questions should not exceed 80 words
each.

(vii) Questions from serial number 19 to 25 are 5 marks questions.
Answers of these questions should not exceed 100 words

each.

(viii) Question number 26 is a map question of 5 marks with two
parts — 26 A from History (2 marks) and 26 B from Geography
(3 marks). After completion, attach the map inside your answer-

book.
QUs-h
SECTION-A
1. 193 yrarsdt & QU U | ek & A Igrae’ i sawen s 1
rerET

WehiT Soel & o A2k foshre § BIETEET & ANTEH =l =TT FhifSu |

Interpret the concept of ‘liberalisation’ in the field of economic
sphere during the nineteenth century in Europe.

OR
Interpret the contribution of French in the economic development
of Mekong delta region.

2. SIH H BT ¥ BUTS ohl qohe1eh vl TRH 837 1
HUYAT
gl swreTt § srgare ik 3 Iu=E it SrEEar @ deH § F
LB
How had hand printing technology introduced in Japan?

OR
How had translation process of novels into regional languages
helped to spread their popularity?
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3. u9E H 3ifq g - frefieo & fore 5 saer 27 1

HAAT
iz saim - Fraror 3 fore 3 Sl 37
How is over irrigation responsible for land degradation in Punjab?
OR
How is cement industry responsible for land degradation?

4. TSHTT® €9 8 Gd A0 FRT SArshdiiEes GUR H8 fohy s @ 87 1
How can democratic reforms be carried out by political conscious
citizens ?

5. 9qfwE rtor weigl o foru IRt ot % wey ° e v @ wed B
TehdT &7 1

HUAT

ISITel o Y, foham o1 forenme =1 o1& o1 81 Hehat 27

What may be a goal of landless rural labourers regarding their
income?

OR
What may be a goal of prosperous farmer of Punjab?

6. ‘wrafHer wg facdtae &t § 3t T Fifsu) 1
Distinguish between ‘primary’ and ‘secondary’ sectors.
7. S AYST TSI T o Fact TTeh FUMLR ! W1 41 ohid 87 1
Why do banks or lenders demand collateral against loans?
Qus-«a
| SECTION-B
8. Juifera A wfear =i wieteh w3 srefiq &t o form wepr o o
17 ISTEN Higd SATEAT FhifSru| 3x1=3
HAAT
S
G
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e < anfefes wnifa & fore Rmder 9 smenedt it Seewi afeq
=TT i

How had Napoleonic code exported to the regions under French
control ? Explain with examples.

OR
Explain with examples the three barriers that are responsible to
economic growth in Vietnam.

9. = TSI fohd YR e @9 aek id Al 1 ged S 3ca1es S
TET? IITEAT ed AT hify| Ix1=3
AUt
09 # el vt F S Iu=mE foRe weR wit % foe gewar @
3ueTsy 1 ® A7 IeTeil gigd sqren HiRu|

How had the Imperial State in China been the major producer of
printed material for a long time? Explain with examples.

OR
How had novels been easily available to the masses in Europe
during nineteenth century? Explain with examples.

10. ‘Tt I g i ot ot @ fasiwaradt w1 avfs fifvm 3x1=3
HUAT
% = g 6 Rl iR s fasianai =6 aof Hifsm)
Describe any three main features of ‘Rabi crop season.’

OR
Describe any three main features of ‘Kharif crop season.’

11. “wra # foemer o sedt smEen s i gelwar w1 aform 8 wed
21" 38 o o faveryor Aifsm| 3x1=3

“Water scarcity may be an outcome of large and growing
population in India.” Analyse the statement.

12. “fordlt SAreRartes <31 ® grmrfsren fafiearedi w iR 31 v g e @

3R Tarey oft €1 whdl 217 dont Tfed 3@ e i gy Aifsg 3
o
EFE
&
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gmatfSres favrsm T st gaifad w217 39 Fem 6 a Fifs

“The assertion of social diversities in a democratic country is very

normal and can be healthy.” Justify the statement with arguments.
OR

“Social divisions affect politics.” Examine the statement.

13. “9ra | e % A @ ufeensdt it Ul § $w gun gen R, vy
Feft oft gEui | bl i 2177 39 F v Fifsw | 3x1=3

“Women still lag much behind men in India despite some
improvements since independence.” Analyse the statement.

14. YR H UsHifds qal # 5 yR &gt usig ea & &9 3 gm=yan
firerdt 87 Iemn afed =me Fifs| 1V5+1%=3

How are political parties recognized as regional and national
parties in India? Explain with examples.

15. “‘gaieawor § firere & aform i ol asa diredt 1 wre 18 )|
39 FYF ! =ATTETT ST | 3

“Consequences of environmental degradation do not respect
national or state boundaries.”” Justify the statement.

16. WRA H Jiae &Fs oyl 991 8l @I 87 feel i ron Y e
Fifsm) 3

IreraT
ferelt <91 < wepet Wi 3care (S.ELd.) 0 w0 & fog fafay swget
3T BTl Sl TUMET 29 Y A & ¢ 3SE Ffed T8 HfR¥u

Why is the ‘tertiary sector’ becoming important in India? Explain
any three reasons.

‘ OR
How do we count various goods and services for calculating Gross
Domestic Product (G.D.P.) of a country? Explain with example.

010
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17. 37ifer forepm o o o ftu=iiss G & aed 1 9uid hifs) 3x1=3
YT
YT 0 o FIal 1 HeIQR W TS Tt X Il 1 9ui Hifsa

Describe the importance of formal sources of credit in the
economic development.

OR
Describe the bad effects of informal sources of credit on borrowers.

18. IUMIh U arfagfd Framer o tfeeRr #1 3ug R TR R wehd
&7 IATENT Hied AT FHIfSY| 3

How can consumers use their ‘Right to Seek Redressal’? Explain
with example.

Qus-T
SECTION-C

19. 1930 ® forua efeal & Tfia af waifawem’ & gnfea fran? 3gh
IUcfetrTt a1 Ui shifary| 1+4=5
AT
“afam 319 sTeeE’ wse &t i ifsie) “afemg atas srEer’
H IR IR e fohem wyETai st FewIiiar ot aviq shifer)

Who had organized the dalits into the ‘Depressed Classes
Association’ in 19307 Describe his achievements.

OR
Define the term ‘Civil Disobedience Movement.” Describe the
participation of rich and poor peasant communities in the ‘Civil
Disobedience Movement.’

20. ‘JeAted srarsdt it fova srefegereen w1 ®Y 99 F H WA SA9R 3 U
37em vifir 371 1 ot 78 e w0 Faerw i) Sxl=5
Jrat
‘el ITaTedt o TEe! YT deh WA H TRt o WEY %S dedl
1 =2 H 311 R A11 39 YA 1 foargeryor Hifsg

Elglif
=]
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reraT
arryfiies e 1 el 3 SEdieRT % e T el YT ST 8
e % foray wed # 39 e 1 fagetyor Sifsw)

“Indian trade had played a crucial role in the late nineteenth
century world economy.” Analyze the statement.

OR
“Series of changes affected the pattern of industrialization in India
by the early twentieth century.” Analyze the statement.

OR
“Industrialization had changed the form of urbanization in the
modern period.” Analyze the statement with special reference of
London.

21. ST A I gatawer frefer & foe forg g e 27 3amewn
| Hfga wrE i) 5x1=5

How are industries responsible for environmental degradation in
[ndia? Explain with examples.

| 22. “yred o Tk TREeEd, 1o qREed shi e SAfus giaursEe 317 e
| it 3arewi wfgd gfe fifsg 5x1=5

“Roadways still have an edge over railways in India.” Support the
statement with examples.

23. fouf, sm oit ieiaes Teqall & gR W Afcsran 3R sfictsht

fesrfe =t germn shifsl 1+1+3=5
ST

ATEreT o e 8 g TR ST &9 @ Yeford O ht aTgErl o

fafirs eyt < sare Fifs|

Compare the situation of Belgium and Sri Lanka considering their
location, size and cultural aspects. .

OR
How is the idea of power sharing emerged? Explain different forms
that have common arrangements of power sharing.

Elglil
-
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24. TER 3K A9 TEA F ®Y H SAlhdaits FdEAT % Hed &1 auiH
EAIS I Sx1=5

Describe the importance of democratic government as an
accountable and legitimate government.

25. SEUET AT IeaTe % fo srferr i HREmi i daw fafine &
1 & it wenfira st 27 o e svmont i =T i) Sx1=5

Why do multinational corporations (MNCs) set up their offices and
factories in certain areas only? Explain any five reasons.

WUg-¥ (AH{EH T%)
SECTION-D (Map Question)
26. (A) 3 e A 3R B fiT T g & Tertfoe ar-wEfes | efend
fopu mu | 37 e A Frafafaa s # wEEda @ gy
3T 37 T A A @i Yaret w fofan- 1x2=2 |
(a) o€ T W&l WRdTE TE H1d 1 AT g3
(b) T8 TR &l Sfcrafarer s <l ST g
(B) =&t fw U wra % Ueriferss Yar-wmfm # Fefefed & @ free
= =1 Sueh ol & qwiiey ofR 3 AW fofau; 1x3=3
(i) FeTIFRT - U el 3
(ii) oA - &g 3R era 993
(iii) TSI - FHEAI SFATATSA UTeh
(iv) YRIET - Hs! 9T
(v) UER U - 91y
e Frefafed g e giEafim aitenfea & forg s wen 26 %

- T W o uter @ 3w e - 1X5=S5

() 38 Tsa oA fafe ST sferataren sw e gl
(i) 3@ Uea i T fafge sl Aidsh 3 5 HE el
(iii) 3% T 1 9w ferflaw st ‘SH-<rn’ we afed gl
(iv) 39 U2 o1 9 fftau st aweta wgE o e )
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(v) 39 I 1 99 foaftae st fasmam srer @it seaa w93
feora 21

(vi) 3" TS &1 M fafaw S8l Fiver diveaas daeis qreh
foora 21

(vil) TER TR =iy forg 9 g e 27

(A) Two features A and B are marked on the given political outline
map of India. Identify these features with the help of the
following information and write their correct names on the
lines marked near them.

(a) The place where the Indian National Congress Session
was held.
(b) The city where Jallianwalla Bagh incident took place.

(B) Locate and label any three of the following with appropriate
symbols on the same given outline political map of India.
(i) Kalpakkam - Nuclear Power Plant

(i) Vijayanagar - Iron and Steel Plant
(iii) Noida - Software Technology Park
(iv) Paradeep - Sea Port

(v) Sardar Sarovar - Dam

Note: The following questions are for the Visually Impaired
Candidates only, in lieu of Q. No. 26. Attempt any five

questions.
(i)  Name the state where Jallianwalla Bagh incident took
place.

(i)  Name the state where Gandhiji violated the Salt Law.

(ii1) Name the state where ‘Chauri-Chaura’ incident took
place.

(iv) Name the state where Paradeep Sea Port is located.

(v)  Name the state where Vijayanagar Iron and Steel Plant
is located.

(vi) Name the state where Noida Software Technology Park
s located.

(vii) On which river is Sardar Sarovar Dam constructed?

i
(=
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Map for Q. No. 26
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